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Boolean isReverseLists(a, b: List)

Input a, b: lists to be compared.
Output: whether the lists have reverse contents
if a.size() != b.size()

    return false;

end if;

b_iter <- b.iterator;

Stack s <- ();

while (b_iter.hasNext())

    s.push(b_iter.next();

end while;

a_iter <- a.iterator;

while (a_iter.hasNext())

    if s.pop() != b_iter.next()

        return false;

    end if;

end while; 

return true;
(3)

(a)

fibonacci(2): 1.

fibonacci(1): 1.

fibonacci(3): 2.

fibonacci(2): 1.

fibonacci(4): 3.

(b)
dq: 2.

dq: 1.

dq: 3.

dq: 4.

(4)
For example:

    public static Stack<Integer> makeStack(Deque<Integer> dq)

    {   Stack<Integer> result = new Stack<Integer> ();

        Iterator iter = dq.iterator();

        while (iter.hasNext()) {

            result.push((Integer) iter.next());

        }

        return result;

    }

(5)
Proof.

Since f(n) = O(n4) and g(n) = O(n3)), 

there exists cf and nfo such that f(n) <= cf n4  for n >= nfo
and cg and ngo such that g(n) <= cg n3  for n >= ngo
Select c = cf  +  cg and no = max( nfo + ngo, 1)
Thus, for n > no,

(i) 
n >  nfo  and thus f(n) < cf n4   

(ii)
n >=  ngo  and  n>= 1 and thus g(n) < cg n3  <= cg n4  

f(n) + g(n) <= cf n4   + cg n4  = c * n4
(6)
For example:

      public boolean addAfterValue(int afterVal, int val) {

            IntListNode temp = this.head;

            while (temp != null) {

                if (temp.value == afterVal) {

                    IntListNode newNode = new IntListNode();

                    newNode.value = val;

                    newNode.next = temp.next;

                    temp.next = newNode;

                    return true;

                }

                else {

                    temp = temp.next;

                }

            }

            return false;

        }

(7)
For example, in Java, with a time complexity of O(n):

    public static int rangeProduct(int [] a,

                                    int lower,  // lower range

                                    int upper)  // upper range

    {   if (lower == upper) {

            return a[lower];

        }

        else {

            return a[lower] * rangeProduct(a, lower+1, upper);

        }

    }
